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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

1 (a) Simplify 5p—-3p+p
(V'
2¢ + P 3P

(b) Simplify m?* + m?

(c) Simplify 10+ 3c+5d—7c+d

- % 4
10 +3C =rc+\°:/><j~

o -~4cC+ 6AE
(Total for Question 1 is 4 marks)

2 Write 56.78 correct to one significant figure.
L> 2™ sF is qreoses ‘o 5,

so ceund v

(Total for Question 2 is 1 mark)
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3 A teacher asks the students in Year 6 what type of transport they use to get to school.
The dual bar chart shows some of the results.

<
&
< 10
4
E T 7
- 17
: 7
o
= 6 % /
'6 Frequency / '/ Key:
z —
8 4 - A boys .
34 // girls %
2- / ’
) h
0 7 7 o 7
i Car Bus Walk Cycle Other
3:,—_ (a) What is the most popular type of transport used by the boys?
s
<« Wowe.
= (1)
e
g 7 girls walk to school.
5 (b) Show this information on the dual bar chart.
= 1)
8
_____ More of the students get to school by car than by bus.
S (c) How many more?
885 Car . h4Az- 14 %10
S Bus: 614=10 2
s 1)
e
: The number of students in Year 5 is the same as the number of students in Year 6
E (d) What is the total number of students in Years 5 and 6?
S
= ) 4+ 1r¥21]
S0
= = 43
L0 boy~ ueaxs
=z A DO~ Y
SIS Tota) = 2(4%) Woave Sowme o. X
- of Sudens. (2)
(Total for Question 3 is 5 marks)
s | J
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4 Here are four fractions.

2 11
5 30

N | =
[
W

Write these fractions in order of size.
Start with the smallest fraction.

S 41003 to

Corwert all
minot ol C?O)

xUSeL_CMo,s\'\'edewo

- 2
15 E%5
2% 6 AR :’X\S
x 6 [
s ¢ L e %
\ ——
S 3%9 @ €
n o2 L -
30) 5) |'5/ 2

(Total for Question 4 is 2 marks)
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5 David sells CDs in a shop.

The tally chart shows information about the number of CDs David sold
on Monday, on Tuesday and on Wednesday.

Tally Frequency
Monday THL TR T 12
Tuesday THL L TN | 18
Wednesday | TH | ]| 8

(a) Write down one thing that is wrong with the tally chart.

David drew this pictogram to show the information for Tuesday and Wednesday.

i | DODDD
Wednesday | () (]) (]

(b) Write down one thing that is wrong with this pictogram.

Key: CD represents 3 CDs

(Total for Question 5 is 2 marks)

5
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6 There are 495 coins in a bottle.

1
5 of the coins are £1 coins.

124 of the coins are 50p coins.
The rest of the coins are 20p coins.

Work out the total value of the 495 coins.

£ 1 cowns

e —
C——

40{57&% b & {- ( =£‘65

EQp ConS
———".__:—-;——

2o x £OS= tez

200 co\nS
Jul S

NS 4q3 - (|€>‘5+\'1
Ne. oF 20P 4a5 - 2897 206

206x fo.2 =141.2

ToYol Njanue = V65 ¢ e+ .2

(Total for Question 6 is 4 marks)
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7 The probability that a new fridge has a fault is 0.015

What is the probability that a new fridge does not have a fault?
— Pron. o6 SUKLCESS

— 9Q=ti- P
Prob of fative = 1- 0.015
P Q.935 .

Total probabivty
(Total for Question 7 is 1 mark)

8 Here is a list of numbers.
21 22 23 24 25 26 27 28 29

(a) From the numbers in the list, write down a square number.

5% 25

(b) From the numbers in the list, write down a number that is a multiple of both 4 and 6

AX 6= ’J_L‘—
..................... 24

(c) Write down all the prime numbers in the list.

No SoxocS &XC cet

(Total for Question 8 is 3 marks)

7
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3x°

2x°

Find the value of x.
0
=qo
Riget argyle

39(_4—3.’14-0]0.—;360 & AO& op Yo 3

5 +A0= 360
6x = 23’02.:,6
‘xz 5“"

(Total for Question 9 is 3 marks)
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10 Suha is going to buy 150 envelopes.

Here is some information about the cost of envelopes in two shops.

Letters2send Stationery World

Pack of 25 envelopes for £3.49 Pack of 10 envelopes for £2.10
Buy 2 packs get 1 pack free

Suha wants to buy the envelopes as cheaply as possible.

Which shop should Suha buy the 150 envelopes from?
You must show how you get your answer.

[etesS2se od W
AN AN

No. of PockS= ‘_?.95-.: 3@0(,5 - 22X ;.2-‘0 (o ?o(
> (26 cacds) = L 4.20 02:% :;0
coSk : 6%x3.49
. $20.au cost: (50 , £ 4.20
20
=22

£ 20.au & £
Le'\’re.cs?-Se“d

Suner growd O Scom ¥nS.

=3 \owex O&ﬁd\

(Total for Question 10 is 4 marks)
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11 You can use this graph to change between inches and centimetres.

A

140

120

100

80

- e e e T s G e -

centimetres

S e e = e e e -

60

40

20

- e em M M e e e -

e o e e | em ™ s Y mam oo~

\ 4

0 10 20

inches

(%)
[w)

40 50

(a) Change 74 cm to inches.

Drows line hQﬁ?oOh‘(‘a(ltj ot 74 on Y- uxis Yo He

ne ond ceod e A-oxis LVowe.

10

P 4 8 8 5 5 A 0 1 0 2 4

YVIUY SIHLNEILHM TON-Od V3dVy SIHL NI ILIHM LON Od

YIHY SIHENEILM LTON:OQ



DO:NOTWRITEINTHIS/AREA DO NOT WRITE IN THIS AREA

DONOTWRITE IN THISAREA

PhysicsAndMathsTutor.com

Daniel’s height is 6 feet 3 inches.
1 foot = 12 inches
(b) What is Daniel’s height in centimetres?
conuert Yo rches:
_ = 75 inches:
oS
. X Gyraph 0N}
ko Cm - .
conve ceodings o &
incweS . -+ € 8.
. { ‘
25 ‘incheS: 64 om o lowsRrs kR
. = cm
.............. \C12- centimetres
(Total for Question 11 is 4 marks)
12 Find the value of —”13'4_1'52
(6.8 + 0.06)
Write down all the figures on your calculator display.
13.4 — (.6 = 1.9
6.2 +06.06= 6.B6
= Suwstiuvie
o e \l s
eq:.uod'\oﬁ <6 .%6\‘& .......... 00?33035‘108\ ..........................
(Total for Question 12 is 2 marks)
11
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13

(a) Rotate shape A 90° clockwise about centre O.

=V

(2)

12
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(Total for Question 13 is 4 marks)
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14 (a) Factorise 5—10m

5Cl-a2m) & Botn ose muies
ot 5. 5 i-2m)

(b) Factorise fully 2a*b + 6ab?

Qoo 1S W Yvorn . Now Q¥
aide Mae loroceRr o

s \ebe ouer:

200 o+ 3(—;3 &

200(a+20 )

(Total for Question 14 is 3 marks)

15 (a) Write 4.7 x 107" as an ordinary number.

00\ L
\O
oLt
LA L = 0. 4F
1o
(b) Work out the value of (2.4 x 10°) x (9.5 x 10°)
Give your answer in standard form.
MU p\yY 2:4xq.5=22.9%
odinacy v0.5
345 g
2 = -
M Riply IO xt0 =\O =\0
€ x10¥- 2.28 x0
2. o = . x \
comoine 2 ol
and wate
‘o Stardofd
form. q
2 XD RNO
(Total for Question 15 is 3 marks)
14
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16 A, B and C are three points on a map.

lem: IOOM é
x¥2.5
285cm: 250w

ce W cogins 2.5¢m ovound A

=> Dwaw & C\« o
oo
= Drow o b bisector of ©@C wSing G COmMPOT
1 cm represents 100 metres.

Point 7"is 250 metres from point 4.
Point 7 is equidistant from point B and point C.

On the map, show one of the possible positions for point 7.

(Total for Question 16 is 3 marks)

15
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17 The table shows the probabilities that a biased dice will land on 2, on 3, on 4, on 5 and on 6

Number on dice 1 2 3 4 5 6

Probability 0.3\ | 0.17 0.18 0.09 0.15 0.1

Neymar rolls the biased dice 200 times.

Work out an estimate for the total number of times the dice will land on 1 or on 3

Pcoy - (- (o.(}-:-o.\g-fo.oowo.(s‘\-o.l)

(- (o.6a) = 03!
L | = Lo\ pcobob‘s !'s\-.(ﬂ .

PCO+ P2  ©-3(+0.1% = 0-49

No. of rous - Lo.l.\,q\(o.oo)

(Total for Question 17 is 3 marks)
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18 On Saturday, some adults and some children were in a theatre.
The ratio of the number of adults to the number of children was 5 : 2

Each person had a seat in the Circle or had a seat in the Stalls.

% of the children had seats in the Stalls.

117 children had seats in the Circle.
There are exactly 2600 seats in the theatre.

On this Saturday, were there people on more than 60% of the seats?
You must show how you get your answer.

. A n cwces.
é ot cwildren 10 SAGWNS oand - A

o
= \F
o= Y x4
x4 (> | = 468"
463 Cwildmn
Rowio: Aduss . Clhilden

5 - 2 ')xz’?ﬁ

234
Yro 1 46

= @

» CeokS 2600% 60 - 560

on
. Yes nere \were peo P

coon kS -
oce  Paet 607 o

(Total for Question 18 is 5 marks)
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19 The diagram shows a prism with a cross section in the shape of a trapezium.

O
o
2
o
=
=
2
e |
m
Z
-
=
v
=
)
It
P

/ side

On the centimetre grid below, draw the front elevation and the side elevation of the prism.
Use a scale of 2 cm to 1 m.

front

Yo -
l,r‘v ]

WINAUWAIONGG  vawsiMalMMiONOD

(Total for Question 19 is 4 marks)
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20 Olly drove 56 km from Liverpool to Manchester.
He then drove 61 km from Manchester to Sheffield.

Olly’s average speed from Liverpool to Manchester was 70 km/h.
Olly took 75 minutes to drive from Manchester to Sheffield.

(a) Work out Olly’s average speed for his total drive from Liverpool to Sheffield.

Livetpool —> Manchester —> ShefFeeld

d= 56 km 4=1.28 WS & 40 ks
. (.25 ¢S
s= 0o km/h d=6\em %55,‘15 ¢
S:é_.
t
56 Avewmge Tokon diStonce
K sped T Totol Fim@
=56 _ 566!
70 5.¢ +1-25
- O.BWn<S.
— ,‘E— =57, 0%
2-05
............. 5+l kmh

Janie drove from Barnsley to York.

Janie’s average speed from Barnsley to Leeds was 80 km/h.
Her average speed from Leeds to York was 60 km/h.

Janie says that the average speed from Barnsley to York can be found by working out the
mean of 80 km/h and 60 km/h.

(b) If Janie is correct, what does this tell you about the two parts of Janie’s journey?

Tre rvre 4torcen~ for @ochn

________ SO B AR SO .

(Total for Question 20 is 5 marks)

19
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A
g 6.15
2.6
E D C
¥ ‘.-;sﬁ?-crw 5. 4em

ABC and EDC are straight lines.
EA is parallel to DB.
EC=28.1 cm.
DC =54 cm.
DB =2.6 cm.
(a) Work out the length of AE. e. con CO m?oxe

. 25 -

S M.‘ \a.(' £ci» (\%
X They o=@ S lenghns .
EC Cok\QS

2.6 4
Se o T 3.9 em
AC=6.15 cm.
(b) Work out the length of AB. Ec _ f:,E-_
AThey acte Swilav DcC cla
- g
"H'?Od\a\eg ond ®.1 _ 6.5 L~ & b‘ XS b
Can compPaert@ ;q - eC 5
coos of \QV\%’(VG < 4. | cM
............... 2'05 cm

ch- AB:" 6-‘6

=6.6-4.
4.1+ AR = 616 Ag = &5 !

(Total for Question 21 is 4 marks)

20

P 4 8 8 5 5 A 0 2 0 2 4

YVIUY SIHLNEILHM TON-Od VIUY SIHL NI 3LIYM LON Od

YIHY SIHENEILM LTON:OQ



DO:NOTWRITEINTHIS/AREA DO NOT WRITE IN THIS AREA

DONOTWRITEINTHIS/AREA

PhysicsAndMathsTutor.com

22 Anil wants to invest £25000 for 3 years in a bank.

Personal Bank Secure Bank
Compound Interest Compound Interest
2% for each year 4.3% for the first year

0.9% for each extra year

Which bank will give Anil the most interest at the end of 3 years?
You must show all your working.

Pex Sono\ LN\'d Cecuce Ronc

M
‘\/\NW\/\/\M
use s egr to covcuone forod

WNVeyvena CP)Q‘\‘ o
Oatance foc o vy code of ¢¢d)  Fiegk ugar: 25020 X ( (+ 43)

P( [+ X eer Qeor 10
A~ (00 > anrd far' ™
3 &geovs . -
= 25000 l+_2__) =£26075 2
o

Last 0 - 2.60'-?'5'< I+013
- f26630.2 yea s 100

\

Q

~ £2654-6.5
Trcesd = £26530- 2- g').sooo

£1530.2 Tricastz £ 26546 S — F 26000

_-,£ (546 .5
£1546.5 Yi1530.2

Secure Bore glues o Wi ohet irt RSt -

(Total for Question 22 is 3 marks)

23 A number, n, is rounded to 2 decimal places.
The result is 4.76

Using inequalities, write down the error interval for n.

4355 L n £ ‘\"?'6% Te 4e Thicd dp S Smaller than

3, the Uo\ue is round down +0

il’; A~e twcd dp @436
'S guoder then 4.2554nlnzes
or Qq’uo\\ {0 5}
it i round Lp %0 give 476 (Total for Question 23 is 2 marks)
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24 Solve x2+5x—24=0 Avexnosvely U
Foctowse: o0- 3 +Bn-24 =0 _otdp™-4ac
a(A=D)* w(2-2)=0 S a2
= -5+ \25-a () (29
} (9(.1—%) <O 5 L1405
(gt-3) >
-5"-‘\' 12
H-2=0 or A+G O =
o= 3B of N=-% ~SE _g:\\ oa"':’?:“
2
& or~2
> Z

(Total for Question 24 is 3 marks)
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25 Here are the first six terms of an arithmetic sequence.

3. - 8 13 18 23 28
=D A NaCA g 452 ug A

(a) Find an expression, in terms of #, for the nth term of this sequence.

X Shoud be o muitipe of S. LB«‘\)

: - we (@)
= ?\uasw\a w o N=) Should %NQ
Sn-2L 5 he o rem .

502

The nth term of a different sequence is 3n*
Nathan says that the 4th term of this sequence is 144

(b) Is Nathan right?
Show how you get your answer.

X Pluggpng W A4 Showd e 44

2
n=g  3(a) = 3(16) =48

44 - Norwon 15
4% :#- W <O t\s .
(Total for Question 25 is 3 marks)

TOTAL FOR PAPER IS 80 MARKS
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